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Q1: Circle the right answer for all of the follo m}\%f UZ s J (50 points)
5}3 \.)\;;b \,._Q.) QJU %QA ekt f o1
as 1as:

1: According to van der Waal’s corr
non-polar partic

0ns if Vreal < Vperfect of anyg

b) polar rticles c) smali pa |cle
e s

V L
4 mL cylinder at 20x

- d) 180 kg g C‘DQJJJ CJ”““
c 45 TN J '
3: Calculate the density of CO; placed in a 22. 0° mL cylmder at 20 x 1()2 kPa and - Y

Answer: a)36.06 kg L! b) 36.06 g L

Answer:

4: Accordmg 0

: a) lo ; high rat ) middle rate |
A > O //w 5@. - u'),»
-

5: A gas occupies 20 dm? at 90 °C ang essure. What would be its volume atsS
Answer: a) 15.04 mL ) 15“‘!4 Lt

A \

Pa? The gas is transferred to another tank 20 dm3 w:th
‘LJ N > Sy s\s s
Y\ 25 5

6: A vessel contains a certain amount of gas at 80 x
pressure of 20 x 10° Pa. What should be its volume? <
v 7 3 -1

Answer: a)o.sL @ .) 9 0. SPadm d) 0.5

Ao '? e X \.v\{),..-, Q)JLO) 13 3N S =
o \ ._>—P
7: Ac‘c%fdmg to Avogadro’s |a roportlonal wnth volume at constant? j 5 J -/ e F
Answer: a)p&V Z T&y d)p&n e)R&P)-?J)LﬁJl Do
,/f"‘ 'h)N Jk—v 9-0‘)\5"'“‘5"’ )’\(( ‘r.gis'd\
;:-"‘ 8: Attractive and re between partlcles re present in a? ('5) \ S j_pL'
Answer: a) perfect })f i, rl('fn.-ideal gas . ¢)ideal gas d) noble gas
'QJ “-". ‘ = -}',” ‘\‘/h)\ %’\%%
9: It can follow the direct proportlonal between temperat e and volume t} A the law of a
Answer:  a)Van der\ Vlﬁaal"" b) Gral1am b @ d) Gay-Lussac
10: The mol fr‘w' on o . 0s pheric pressure isequal to? ij\f‘)& )JX

w A ¢two ::i,S
%fl‘hé“igllmm data-have been observed for 10000 000 mg of COz gasat273 K. Calculate the best value of the

%olagmass of C()z*}?9 p/10’kPa | 1.00 2.00 3.00 | (25 points)
11.75

(}o\t‘v\ ;_N\l_,wvé;ﬁ% \:i'; )7\.5;0)\‘ 5 >>/°‘(\~5‘4J\2-}fé-u(5‘

3: A perfect gas undergoes lsothermgl expansion, whichin es its volume‘bx 24 4%/ dm?. The pis and Vl of the

gas are 2 x 10 kPa and 2.14 dm3 respectively. Calculate the ps of the gas in (i) bar, (ii) torr. (25 points)
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